
8

      PEUGEOT 
 207 (WA_,WC_) (05/2006-->)

207 SW (WK_) (02/2007-->)
207 CC  (WD_) (02/2007-->)

Ref
Old
code CODE Description OE – Number OE – Number FEATURES

1 PJ169-L 01006 Stabilizer link-L 508769 M10x1,5-330 mm

2 PJ169-R 01007 Stabilizer link-R 508768 M10x1,5-330 mm

3 PJ180-L 01017 Tie rod end-L 381767 M10x1,25-Female-

M16x1,5-210 mm

4 PJ180-R 01018 Tie rod end-R 381768 M10x1,25-Female-

M16x1,5-210 mm

5 PJ181 01019 Axial joint 3812E8 M16x1,5-M12x1-213 

mm

6 PJ184-L 01022 Control arm 

complete-L

3520R7 9810588280 325 mm

Ref
Old
code CODE Description OE – Number OE – Number FEATURES

7 PJ184-R 01023 Control arm 

complete-R

3521N8 9810588180 325 mm

8 PJ183-L 01020 Control arm w/o 

ball joint-L

3520R7 Part of -

9 PJ183-R 01021 Control arm w/o 

ball joint-R

3521N8 Part of -

10 PJ188 01027 Ball joint 364056 364062 Ø18

11 PJ186 01025 Bushing 3523CE 9677040580 Small

12 PJ187 01026 Bushing 3523CC 9680613880 Big

13 - 03806 Clutch link 211766 -

14 - 05086 Clutch link 211761 -

12 01026

10 01027

13 03806 13 03806

11 01025

14 05086 14 05086

1 01006 2 01007

3 01017 4 010185 01019 5 01019

6 01022 7 01023
10 01027


